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1) V6-3-(V6-v5)=-3+ 6

=-V9+V5<0
.. A<B
i) VG- V- (3 VB) = V6-3= V6 V3 <0
.. B<C

o2t C>B > A
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AZTmoA VA1 = 2.037, VAL.5 = 6.442 & off, AlF2LO] 2t
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@D V4150 =64.42 @ V4150000 =2037

@ V41500 =644.2 @ +0.0415 =0.2037

® +0.0000415 =0.006442
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O V4150 = V41.5 x 100
=10V41.5 = 10 x 6.442
= 64.42
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= 2037
® V41500 = V4.15 x 104
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(x—y)2—12x+12y+36 = (x +ay+b)> L W, &5 a, b F
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@ 2 @ 4 @6 @ 11 ® 16
x—y=A= X5t
A?-12A4+36=(A-6)2=(x—y-6)

a=-1, b=
. ab=06
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@ (2x-3y-2)(2x-3y+3) @ (2x+3y—-2)(2x+3y-3)
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= (2x-3y-2)(2x -3y - 3)




6. +3x=5L ] x(x+1)(x+2)(x+3)-3 2] @22
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(x2 +3x)(x2 + 3x+2) =3 =5(5+ 2) - 3 = 32




7. x=V2+1,y=+V2-14 ) x2-y2 9] g& F5tH?

® 2 @v2 222 @ivi O3

x+y=2V2, x-y=2
2=y =(x+y)(x-y) =2V2x2 =42
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A= a, b ol U5t a <00<b<10q V(=2a)2 - /(

(-7 & 093] 5192w a, b 9 A%
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a<0,0<b<10]B2
a-b<0,1-b>0

2 /(=2a)?2 = \/(a-b)?+ /(1 -b)?
=|—2a|—|a—b|+ |1 -b|
=-2a+a-b+1-b

=-a-2b+1

TEhA ks g2 -1-2+ 1= -2°|th




11. A4 x of thstod
£0) = (VRelate] A & 71 2 4) ehat
o ZL27 (2, x = Adsolet)
D1 @ 2 @3 @ 4
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81 < 90 < 100 |22 9 < 490 < 10

5 f(90) =9
36 < 40 < 49 ©]E2 6 < V40 < 49
o f(40) =6

- f(90) - f(40) =9 -6 =3
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3<Vi0<40°|T1<+Vi0-2<20]|B2
-2+ V10 & HAFHE A=1

&58E B=-3+ V10

-3+ VI0+7 4+ V10
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15. thg A% 3 310 -1 & vhpo] Wol 7] she 7k obd 229

® 2 @ 4 @5 @ ® 10
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316 -1=(38-1)(3°+1)
=(3*-1)(3*+1)(38+1)
=(32-1)F2+DB*+1)(3%+1)
=B-1D)B+1E+1)B*+1)(3%+1)
=2x4x10X 82X 6562




